### Bid #N2114404C1 - Miramar Parkway Fiber Optic Intersection Improvements

Start Date Jul 28, 2017 5:27:43 PM EDT Awarded Date Not Yet Awarded

N2114404C101-01 Imported Item Lot: IN	NSURANCE AND PAYN	MENT AND PERFORI	MANCE GUARANTIE	S		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Traffic Control Devices, Inc.	First Offer - \$8,009.00	1 / lump sum	\$8,009.00	Υ	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Original bid bond was sent through F Copy of bid bond, Equipment Report and Current Proje Report are attached.				
Arc Electric, Inc. ■	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Horsepower Electric Inc.	First Offer - \$20,000.00	1 / lump sum	\$20,000.00	Υ	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

N2114404C101-02 Imported Item Lot:	N2114404C101-02 Imported Item Lot: MOBILIZATION									
Supplier	Uni	it Price	Qty/Unit	Total Price	Attch.	Docs				
Horsepower Electric Inc.	First Offer - \$30	0,000.00	1 / lump sum	\$30,000.00		Υ				
Product Code:		Supplier Product C	ode:							
Agency Notes:			Supplier Notes:							
Arc Electric, Inc.	First Offer - \$42	2,000.00	1 / lump sum	\$42,000.00		Υ				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
Traffic Control Devices, Inc.	First Offer - \$53	3,000.70	1 / lump sum	\$53,000.70		Υ				
Product Code:			Supplier Product C	ode:						
Agency Notes:			Supplier Notes:							

N2114404C101-03 Imported Item Lot: MAINTENANCE OF TRAFFIC									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Traffic Control Devices, Inc.	First Offer - \$32,800.00	1 / lump sum	\$32,800.00		Υ				
		Supplier Product C Supplier Notes:	ode:						
Arc Electric, Inc.	First Offer - \$38,000.00	1 / lump sum	\$38,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Horsepower Electric Inc.	First Offer - \$49,076.00	1 / lump sum	\$49,076.00		Υ				
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:						

N2114404C101-04 Imported Item Lot: CLEARING & GRUBBING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Arc Electric, Inc.	First Offer · \$4,888.00	1 / lump sum	\$4,888.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Traffic Control Devices, Inc.	First Offer - \$5,943.00	1 / lump sum	\$5,943.00		Υ				

		Supplier Product Code: Supplier Notes:			
Horsepower Electric Inc.	First Offer - \$14,520.00	1 / lump sum	\$14,520.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

N2114404C101-05 Imported Item Lot: CONCRETE SIDEWALK (6 THICK)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Horsepower Electric Inc.	First Offer - \$95.00	70 / square yard	\$6,650.00		Υ				
Product Code:		Supplier Product Co	ode:						
Agency Notes:	Supplier Notes:								
Arc Electric, Inc.	First Offer - \$185.00	70 / square yard	\$12,950.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Traffic Control Devices, Inc.	First Offer - \$330.00	70 / square yard	\$23,100.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

N2114404C101-06 Imported Item Lot: DETECTABLE WARNINGS									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Horsepower Electric Inc.	First Offer - \$30.00	20 / square foot	\$600.00		Υ				
		Supplier Product Code: Supplier Notes:							
Arc Electric, Inc. ■	First Offer - \$50.00	20 / square foot	\$1,000.00		Y				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
Traffic Control Devices, Inc.	First Offer - \$80.00	20 / square foot	\$1,600.00		Υ				
		Supplier Product Code: Supplier Notes:							

N2114404C101-07 Imported Item Lot: CONDUIT-SIGNALS, F & I, OPEN TRENCH									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Arc Electric, Inc.	First Offer - \$12.00	96 / linear foot	\$1,152.00		Υ				
Product Code:		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Horsepower Electric Inc.	First Offer - \$25.00	96 / linear foot	\$2,400.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Traffic Control Devices, Inc.	First Offer - \$79.00	96 / linear foot	\$7,584.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

N2114404C101-08 Imported Item Lot: CONDUIT-SIGNALS, F & I, DIRECTIONAL BORE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Arc Electric, Inc.	First Offer - \$18.50	13522 / linear foot	\$250,157.00		Υ				
		Supplier Product Code: Supplier Notes:							
Traffic Control Devices, Inc.	First Offer - \$20.50	13522 / linear foot	\$277,201.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
Horsepower Electric Inc.	First Offer - \$25.00	13522 / linear foot	\$338,050.00		Υ				
		Supplier Product Code: Supplier Notes:							

N2114404C101-09 Imported Item Lot: FI	BER OPTIC CABL	.E, F&I, UNDERGROL	JND, 2-12 FIBERS						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Traffic Control Devices, Inc.	First Offer - \$3.35	457 / linear foot	\$1,530.95		Υ				
		Supplier Product Co Supplier Notes:	ode:						
Arc Electric, Inc.	First Offer - \$3.50	457 / linear foot	\$1,599.50		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Horsepower Electric Inc.	First Offer - \$4.00	457 / linear foot	\$1,828.00		Υ				
		Supplier Product Code: Supplier Notes:							

N2114404C101-10 Imported Item Lot: I Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Supplier				Atten.	DUCS	
Arc Electric, Inc.	First Offer - \$3.50	16521 / linear foot	\$57,823.50		Y	
Product Code:		Supplier Product Co	de:			
		Supplier Notes:				
Traffic Control Devices, Inc.	First Offer - \$3.60	16521 / linear foot	\$59,475.60		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Horsepower Electric Inc.	First Offer - \$5.00	16521 / linear foot	\$82,605.00		Υ	
Product Code:		Supplier Product Code:				
		Supplier Notes:				

N2114404C101-11 Imported Item Lot: FIBER OPTIC CONNECTION, INSTALL, SPLICE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Traffic Control Devices, Inc.	First Offer - \$40.00	62 / each	\$2,480.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Arc Electric, Inc.	First Offer - \$45.00	62 / each	\$2,790.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Horsepower Electric Inc.	First Offer - \$75.00	62 / each	\$4,650.00		Υ			
		Supplier Product Code: Supplier Notes:						

N2114404C101-12 Imported Item Lot: FIBER OPTIC CONNECTION HARDWARE F&I, SPLICE ENCLOSURE						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Arc Electric, Inc.	First Offer - \$900.00	7 / each	\$6,300.00		Y	
		Supplier Product Code: Supplier Notes:				
Traffic Control Devices, Inc.	First Offer - \$910.00	7 / each	\$6,370.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Horsepower Electric Inc.	First Offer - \$1,200.00	7 / each	\$8,400.00		Υ	
		Supplier Product Code: Supplier Notes:				

N2114404C101-13 Imported Item Lot: FIBER OPTIC CONNECTION HARDWARE F&I, SPLICE TRAY					
Supplier	Unit Price   Qty/Unit   Total Price   Attch.   Doc				
Traffic Control Devices, Inc.	First Offer - \$65.00	9 / each	\$585.00		Υ
Product Code: Supplier Product Code:					

Agency Notes:		Supplier Notes:			
Arc Electric, Inc.	First Offer - \$75.00	9 / each	\$675.00		Υ
Product Code: Agency Notes:	Tr T		Code:		
Horsepower Electric Inc.	First Offer - \$110.00	9 / each	\$990.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Arc Electric, Inc.	First Offer - \$1,650.00	6 / each	\$9,900.00		Υ
		Supplier Product Code: Supplier Notes:			
Traffic Control Devices, Inc.	First Offer - \$1,650.00	6 / each	\$9,900.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Horsepower Electric Inc.	First Offer - \$2,200.00	6 / each	\$13,200.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

N2114404C101-15 Imported Item Lot: MULTI-CONDUCTOR COMMUNICATION CABLE, RELOCATE (50% of 633-8-1)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Traffic Control Devices, Inc.	First Offer - \$3.35	45 / linear foot	\$150.75		Υ		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:						
Horsepower Electric Inc. ■	First Offer - \$4.00	45 / linear foot	\$180.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Arc Electric, Inc.	First Offer - \$5.00	45 / linear foot	\$225.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

N2114404C101-16 Imported Item Lot: PULL & SPLICE BOX (F&I)(13 x 24 COVER SIZE)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Traffic Control Devices, Inc.	First Offer - \$645.00	1 / each	\$645.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
Arc Electric, Inc.	First Offer - \$928.00	1 / each	\$928.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Horsepower Electric Inc.	First Offer - \$1,000.00	1 / each	\$1,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

N2114404C101-17 Imported Item Lot: PULL & SPLICE BOX (F&I)(24 x 36 COVER SIZE)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Arc Electric, Inc.	First Offer - \$1,250.00	22 / each	\$27,500.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Traffic Control Devices, Inc.	First Offer - \$1,340.00	22 / each	\$29,480.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

Horsepower Electric Inc.	First Offer - \$2,500.00	22 / each	\$55,000.00		Υ
Product Code:	Supplier Product Code:				
Agency Notes: Supplier Notes:					

N2114404C101-18 Imported Item Lot: SPLICE BOX (F&I)(30 x 48 COVER SIZE)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Arc Electric, Inc.	First Offer - \$2,200.00	5 / each	\$11,000.00		Υ		
		Supplier Product Code: Supplier Notes:					
Traffic Control Devices, Inc.	First Offer - \$2,675.00	5 / each	\$13,375.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Horsepower Electric Inc.	First Offer - \$3,000.00	5 / each	\$15,000.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				

N2114404C101-19 Imported Item Lot: SPLICE VAULT (F&I)(30 x 60 COVER SIZE)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Traffic Control Devices, Inc.	First Offer - \$3,000.00	1 / each	\$3,000.00		Υ		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:						
Arc Electric, Inc.	First Offer - \$3,500.00	1 / each	\$3,500.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Horsepower Electric Inc.	First Offer - \$4,000.00	1 / each	\$4,000.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				

N2114404C101-20 Imported Item Lot: AUDIO-VISUAL PRE-CONSTRUCTION AND POST CONSTRUCTION RECORDS					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Arc Electric, Inc.	First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Υ
		Supplier Product Code: Supplier Notes:			
Horsepower Electric Inc.	First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Traffic Control Devices, Inc.	First Offer - \$5,710.00	1 / lump sum	\$5,710.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

#### Supplier Totals

Supplier Total	li 3		
f Arc Electric, Inc.		\$488,888.00 (20/20 items	s)
Bid Contact	Omar McFarlane omcfarlane@arcelectricfl.com Ph 954-583-9800 Fax 954-583-9807	Address 3330 SW 46th Avenue Davie, FL 33314	
Qualifications	DBE SB		
Bid Bond	(Status: Authorized on Aug 28, 2017)		
Agency Note	s:	Supplier Notes:	Head Attch:

Bid Allowance	County Commi		\$10,000.00
f Traffic Control Devices, Inc.		\$541,940.00 (20/20 items	s)
Bid Contact	Rob Rebert r.rebert@tcd-usa.com Ph 407-869-5300 Fax 407-682-0076	Address 242 N. Westmonte Dr. Altamonte Springs, FL 32714	
Agency No	tes:	Supplier Notes:	Head Attch:
Bid Allowance			\$10,000.00
f Horsepo	wer Electric Inc.	\$649,649.00 (20/20 items)	
Bid Contact	Michael Martinez mike@horsepowerelectric.com Ph 305-819-4060	Address 8105 W 20 Ave HIALEAH, FL 33014	
Bid Bond	(Status: Authorized on Aug 30, 2017)		
Agency No	tes:	Supplier Notes: He	ead Attch:
Bid Allowance			\$10,000.00